More mixed Gas Law Problems

1)
If I have 4 moles of a gas at a pressure of 5.6 atm and a volume of 12 liters, what is the temperature?

2)
The temperature inside my refrigerator is about 40 Celsius.  If I place a balloon in my fridge that initially has a temperature of 220 C and a volume of 0.5 liters, what will be the volume of the balloon when it is fully cooled by my refrigerator?

3)
If I initially have a gas at a pressure of 12 atm, a volume of 23 liters, and a temperature of 200 K, and then I raise the pressure to 14 atm and increase the temperature to 300 K, what is the new volume of the gas?

4)
1.00 L of a gas at standard temperature and pressure is compressed to 473 mL.  What is the new pressure of the gas?

5)
A gas takes up a volume of 17 liters, has a pressure of 2.3 atm, and a temperature of 299 K.  If I raise the temperature to 350 K and lower the pressure to 1.5 atm, what is the new volume of the gas?

6)
If I have an unknown quantity of gas at a pressure of 1.2 atm, a volume of 31 liters, and a temperature of 87 0C, how many moles of gas do I have?

7)
A man heats a balloon in the oven.  If the balloon initially has a volume of 0.4 liters and a temperature of 20 0C, what will the volume of the balloon be after he heats it to a temperature of 250 0C?

8)
In a thermonuclear device, the pressure of 0.050 liters of gas within the bomb casing reaches 4.0 x 106 atm.  When the bomb casing is destroyed by the explosion, the gas is released into the atmosphere where it reaches a pressure of 1.00 atm.  What is the volume of the gas after the explosion?

9)  The balanced equation is:  

S + O2 ( SO2

How many liters of oxygen are necessary for the combustion of 245 g of sulfur, assuming that the reaction occurs at 730 mmHg and 35oC? 

How many grams of sulfur dioxide should be produced?

10) From the reaction described by the following equation:


2 C6H6 + 15 O2 ( 6 H2O + 12 CO2
Find the pressure required to produce 3.76 L of carbon dioxide gas at 25oC. 

How many liters of oxygen are required?

11) According to the following equation:  



2 C4H10 + 13 O2 ( 8 CO2 + 10 H2O

How many Liters of oxygen gas are required to burn 8 mol of butane completely at 510 mmHg and 15oC? 

How many liters of water should be produced?

12) The balanced equation for the reaction is 

2 NaHCO3 ( Na2CO3 + H2O + CO2.

If a sample contains 14.0g of NaHCO3, what volume of carbon dioxide gas is produced at 250 oC and 8.2 atm.? 

How many grams of Na2CO3 are produced?

If 7.50 g of Na2CO3 are produced, what is the percent yield?

